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Sample problems for Test 2. Answers.
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. 2575 cos(3x) 4 30e % sin(3x) — 9e** cos(3x)

(a.) 4
(b.) log,6 = i—g

o 2z
f(x) = sin™!(22)v/1 — 2%

oy = VBT (2~ 2) & :

) 7o) = S (e )
(b.) f(z) = (z + x?)tene (SeC2 zIn(z + %) + tanx;:iﬁ)
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, y?sec® x — cos(z + y)

~ cos(r+y) —2ytanx

y =2t

. Vector equation: < z,y >=< 3,0 > 4+t < 4,2 >. Parametric equations: = = 3 + 4¢,

C0(1) =< 1,15 >, s(1) = v/226, @(1) =< 0, —10 >

y" = 2cos(3x) — 12z sin(3x) + 922 cos(3z)

fOY(x) = —54sinz — v cos
4
Slope of the tangent line equals - when t = —1 and t = -3 Point on the curve
corresponding to t = —1 is (—5,6). Point on the curve corresponding to ¢t = ~3 is
(_208 32)
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T /Tt (tan (222 1 3))2 (1 + (222 + 3)?)
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